TR —# BY5X 2016/06/26 (H) 17:08
2016 £ 6 A 26 B (B)
BEAE BEHDCP FTEUHIBR -
HDCPEER:  (58) (%)
= Lh-):
ouT IN
w&E:
Bz BRES OUT | IN |GROSS| HDCP | NET
B B Al & a0 38 78 15.0] 63.00 A B
B BA B 39 40| 79] 13.0 66.0] A B
3 ME EA 43 38 81| 11.0] 70.0 A &
M R RER 43 400 83 13.0] 70.0 A &
o EE a1 420 83 12.0] 7.0 A &
6t Bl E— 44 43] 87 15.0] 72.0
6 #HEBARN 42 44| 86| 12.0| 74.0
8L (A Bk 46| 42| 88| 14.0| 74.0
oL % i 47 43] 90| 16.0 74.0
100 8 XX 44 42] 86| 11.0 75.0
e [N =i 46| 41| 87 12.0/ 75.0
120 % B% 46| 42| 88| 13.0/ 75.0
13 | =7 49 39| 88| 13.0/ 75.0
14 LA &iE 45 45 90| 15.0/ 75.0
150 =% = 46| 44| 90| 15.0 75.0
1602 D BA 48] 42] 90| 14.0 76.0
176 2@ #S 411 50| 91| 15.0 76.0
186 | T A 43 45/ 88| 11.0| 77.0
10 28 Z® 48] 40| 88| 11.0] 77.0
06 BB =X 511 42| 93] 16.0] 77.0
206 |EE RIS 47 42] 89| 11.0| 78.0
261 AH F— 42| 48] 90| 12.0 78.0
236 =@ I8k 46| 47| 93] 15.0 78.0
U Rk KE 45 49| 94| 16.0 78.0
56 KRBT E 46] 44| 90| 11.0 79.0
266 |TH Sk 49 44| 93] 14.0] 79.0
276 (HE % 42 53] 95 15.0/ 80.0
28 =@ FE— 49 43 92] 11.0] 81.0
206 Bk A 50 44| 94 13.0/ 81.0
06 |BA B 46] 49| 95 14.0| 81.0
31 Kt XF 50/ 47| 97 16.0| 81.0
320 R BT 54 39 93] 11.0] 82.0
33 (M &k 49| 45 94 12.0| 82.0
3 |HE Xk 46| 48] 94| 11.0| 83.0
356 |#BHE A 47 49| 96| 11.0| 85.0
6l =% BX 46 51| 97 12.0] 85.0
376 MR B 53 45/ 98] 13.0| 85.0
/L BA R 50 48] 98] 12.0| 86.0
306 ML B 50/ 49| 99] 13.0| 86.0
0 IO B 48 51| 99| 13.0] 86.0
A | £ Bl 48] 52| 100] 14.0| 86.0
0f [mIIE— 53 47| 100 13.0] 87.0
136 HE = 49 51| 100] 12.0] 88.0
M | X% A% 51 51| 102] 13.0] 89.0
5 |FH —4 46] 55/ 101] 11.0] 90.0
46 |BK BES 58 50| 108] 16.0| 92.0
AT (B & 57 51| 108] 16.0] 92.0
8 |BR =T 50/ 58 108] 12.0| 96.0
9% |BH B 58 52| 110 14.0| 96.0
BN UBA =& 44 51| 95 16.0/ 79.0
P-1 EBAVRY—H5T




IR —F BY5X

2016/06/26 (H) 17:08

2016 &£ 6 A 26 B (H)

Bifx/75 FFHDCP FTERHIRR -
HDCPEFR:  (58) (%)
L=
out IN
R
{2 BEE L OUT | IN |GROSS| HDCP | NET
P-2 ERAVEU—H5T




